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QUESTION 1

When deploying BGPIMPLS IPVPN, when two VPNs have a common site, the common site must not use overlapping
address space with other sites of the two VPNs. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

If display current-configuration can reach the setting of !JIS-IS, and display saved. 

There is no IS-IS setting in the configuration, so that means? 

A. FlashRunningIS-ISconfiguration, not saved to memory 

B. memory is runningIS-ISConfiguration saved toFlash 

C. nothing enteredIS-ISThe command 

D. memory is runningIS-ISconfiguration, not saved toFlash 

Correct Answer: D 

 

 

QUESTION 3

As shown in the figure, R1, R2, R3, and R4 are in the same PLs domain, and LDP is used to distribute IPLS labels
between devices. R4 is the Egress LSR of the FEC 4.4.4.0/24. If you want to achieve R1 access 4.4.4.0/24, R4 does
not need to query the label table but can know the forwarding priority of the data, then the outgoing label of R3 for the
FEC should be:____. (Please fill in the Arabic numerals directly, without symbols) 

A. 0 

B. 1 

C. 2 
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D. 3 

Correct Answer: A 

 

 

QUESTION 4

As shown in the figure, an engineer uses 4 routers to test branch network interoperability. Among them, R1, R2, and R3
in branch 1 deploy OSPF to implement network interoperability. R2, R3, and R4 in branch 2 deploy IS-S to implement
network interoperability. Now the engineer wants to implement R1 to access the loopback interface address of R4.
Which of the following operations can meet this requirement? 

A. existR2ofOSFFprocess neutralizationIS-ISDuring the process, the default route is advertised separately 

B. No configuration required 

C. only atR2ofIS-ISDuring the process, the default route is advertised 

D. only atR2ofOSPFDuring the process, the default route is advertised 

Correct Answer: A 

 

QUESTION 5

Which LSAs in OSPFv3 can be flooded in an area? 

A. Link-LSA 

B. Inter-Area-Router-LSA 

C. Inter-Area-Prefix-LSA 
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D. Intra-Area-Prefix-LSA 

Correct Answer: D 
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